FLuiD POWER DATA yda

PRESSURE DROPS THROUGH ORIFICES TRADING & SERVICES CO. W.L.L.

CV FACTORS & ORIFICES
FLOW THRU ORIFICES

TO DETERMINE DESIRED ORIFICE SIZE USE THE FOLLOWING FORMULA:
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150 — 30,000 HOLE AREA DROP
] SQ. IN.
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GPM CU-IN
MIN DIA cv DIA cv DIA cv DIA cv
.020 009 125 .35 .395 3.50 750 12.50
.025 .014 163 .60 423 4.00 .875 17.30
.030 .02 .200 .90 448 4.50 1.00 22.80
.044 .04 212 1.00 472 5.00 125 36.30
.052 .06 .250 1.50 515 6.00 1.50 51.20
.060 .08 .300 2.00 539 6.50 1.75 71.00
.067 .10 .333 2.50 578 7.00 2.00 90.00
.095 .20 .375 3.13 .625 8.80 2.10 100.00
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